Assignment 4.)
iM% ‘

. Adding and Subtracting Polynomials
Simplify each expression.

1) (5p*-3)+(2p*-3p%
“3p3+7p% -3

3) (4+27)+(5n% +2)

T +6

5) (3a® +1) - (4 + 24%)

at-3

7 (5a+4)-(5a+3)
1

9) {—4k* + 14 + 3%2) + (-3k* — 14k* - 8)
-7kt~ 11k* + 6

11) (124° — 6a - 10a°) - (10a — 2a° - 14a*)
144’ + 14a”* — 104° — 164

13) (—x* +13x° + 6x°) + (6x* + 5x° + 7x%)

18x° + 6x* + 12x°

15) (13n% + 11n - 2n*) + (131> - 3n — 6n*)

—8n* + 8n
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2) (a3 —2a%) - (3a* - 44°)

5q° - 547

4y (4n - 3n°) - (3n° + 4n)

—6n°

6) (43!‘3 + 3r4) - (r4 - 5r3)

24 + 97

8) (3x* —3x) - (3x - 3xY)
6x* - 6x

10) (3—6n° — 8n*) - (-6n* - 3n - 8n°)

208 = 2n* +3n+3

12) {872 —3n* + 10n?) - (3n% + 111* - 7)

—14n* +Tn> +8n+7

14) (9r3 +5r% + lir) + (—2)‘3 +9r — 8r2)
7 = 387 +20r

16) (<7x° + 14 — 2%) + (10x* + 7x + 5x°)

—2x° +10x* + 5x + 14




17) (7-13x° = 11x) - (2x° + 8 — 4x°) 18) (13a% - 64’ - 2a) — (~104* ~ 114° + 9a)

4x° —15x° = 11x—1 5a° +23¢* — 11a

19) (3v° +8v% = 10v?) = (-12v° + 4v° + 140?) 20) (85° — 6 +3b*) - (b* — 70> - 3)
15v° + 4v° — 2407 26" +156° -3

21) (k* - 3= 38%) + (-5k* + 6k> — 8K°) 22) (~10k% + 7k + 6k*) + (~14 — 4k* - 14k)
-8k — 4k + 3k° - 3 264 —10k* - Tk - 14

23} (-7n® +8n—4) - (~11n + 2 — 14n%) 24) (14p* +11p* = 9p°) = (-14 + 5p° — 11p?)
Tn* + 191 -6 ~14p° + 14p* +22p" + 14

25) (8k+k* - 6) — (~10k + 7 — 2k%)
3k + 18k —13

26) (—=9v% — 8u) + (—2uv — 2u® + v?) + (—v* + 4uv)

Oy 4 2uy — 2u* - 8u

27) (4x +7x3y?) - (-6x% = 7x°y* — 4x) - (10x + 9x%)

14x%y* + % — 6x

28) (—=5u*v* + %) + (-5u4°v* — 8u + 8u2v2) + (-8u*v? + 8u’v*)

< 2
“2u°v* = 8utv? + 8utv? +u

29) (-9xy% —9x**) + (3 + 7y* - 821y + (3x*y* + 2x7)
-8x*y* — 6xty’ + 7y - dxy’

30) (y3 - 7x4y4) + (——10x4y3 + 6y_3 + 4x4y4) - (x4y3 + 6x4y4)

—ox*yt —11x*y? + ’/y3




JL. Multiplying Polynomials
Find each product.
1) 6v(2v+3)

12v* + 18y

3) 2x(-2x-3)

—4x* - 6x

5) 2n+2)6n+1)
120 +14n+2

7y (x-3)(6x-2)
6x> —20x+6

9) (6p+8)(5p—8)
30p* —8p — 64

11) (2a-1)8a-5)
164>~ 18a+5

Name

2) 7(-5v—8)
—35v-56

4y —4(v +1)
-4y — 4

6) (4n+1)(2n+6)
8% +26n+6

8) (8p—2)(6p +2)
48p° +4p—4

10) 3m—18m+7)
24m” +13m ~7

12) (5n+6)(5n - 5)
25n% + 50— 30




13) (4p—1)?
16p* -8p+1

15) {61+ 3)(6n — 4)
36n% —6n—12

17) (6k+5)(5k+35)
30k* + 55k + 25

19) (4a+2)(6a* —a + 2)

24a° + 84 + 6a + 4

21) (7? —6r—6)(2r—4)
14rY — 407> + 127+ 24

23) (6n* — 6n—5)(7n* + 6n—5)
2n* — 61 —1010% + 25

14) (7x-6){5x+6)
35x% + 12x — 36

16) (8n + 1)(6n — 3)
48n* — 1813

18) (3x—4)(4x +3)
125 —Tx—12

20) (7k - 3)k* -2k +7)
7k — 17k% + 55k - 21

22) (> +6n—-4)2n—-4)
203 + 8% — 320+ 16

2) (- I (3 3m-7)
Fml- Sam®-a%m+ @Im +43




